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DVI sink is terminated to +3V3, approx 50 ohm series.
U1A +3V3+1V1 U1B uic GPIQ output high —> approx O current VBus
RP2040 RP2040 RP2040 GPIO output low —> approx —10mA, single—ended 15
This is reasonably close to actual CML logic levels.
LDO_IOVDD 44 GPIO0O 2 PMODO_0 USB_DM 46 USB_DX— USB_D- Open—drain output would be better, but the pads seem not to oo NOT_HDMI_A
+ I:I + respond to oggling a ps! =i
LDO_VOUT 45 GPlO1 35— PMODO_1 USB_DP 47 USB_DX USB_D d to OEN t li t 252 Mbps!
- GPI02 {4—PMODO_2 - 27R )
GpIo3 1B PMODO_3 uC_DVI_D2+_R12 —— DVLD2+ 1lps, *NOT
USB_IOVDD |8 GPlOL L6 PMODO_4 RUN/RST |26 RUN_ RST uC_DVID2-_ 270 —— ——R16py| D2- 3 2= HOMI
Gpl05 L2 PMODO_5 SWCLK |24 SWCLK uC_DVILD1+_R13 ——"=——2700y| D1+ 4 D1+
GPIos |8 PMODO_6 Swolo 125 SWDIO uC_DVI_D1-_ 270 —— ——R17pVI D1- 6 01—
1 9 PMODO_7 19 uC_DVLDO+_RL4—— =——2700py| Do+ 7
10VDD GPIO7 P—— TESTEN DO+
1ovDD [LO Gplog 114 uC_DVI_CK— GND 3 Y1 XIN uC_DVI_DO-__270 1 R18Dvi DO- 9]
1ovDD 22 GPI0g [L2 uC_DVI_CK+ 12M uC_DVI_CK+__R15 —— ==——270pv| cK+ 10 CK+
10VDD ig GPI010 iﬁ “Efgx:fgg* XIN iig iIONUT c12 uC_DVICK-_ 270 '_'EZDV' CK= 12 k-
uC_DVI_DO+
10vDD ;e GPIOLL o xout l— 10p +3V3 VBUS VBUS R10
10VDD GPI012 R2——Ur-UVL CEC
GPI013 |16 uC_DVI_D1+ _ 270
GpPI01L 117 uC_DVI_D2- QSPISS 56 FLASH_CS 13scL
ADC_IOVDD 43 Gpl015 |18 uC_DVID2+ QSPI_SCK 52 FLASH_SCK GND GND GND ;Zz ;Sz ;Ez 16{spa
GPI016 2L UART_TX QSPI_SDO 53 FLASH_SDO
GPI017 {28 UARTRX QsPI_sD1 22 FLASH.SDL >4 ymiury
pvDD B3 Gplo1s 122 uC_DVI_SDA QSPI_SD2 54 FLASH_SD2 uC_DVI.CEC_¢g @ HPD
pvoD PO GPI019 B9 uC_DVI_SCL QSPI_SD3 51 FLASH_SD3 uC_DVI_SCL
6PI020 3L uC_DVI_CEC uC_DVI_SDA PG =N
32 USER_LED_BUTTON 0oV On
GPI1021 (4— —tt= i ini i
N Lo s . PMODL_0 CEC is definitely a DVI signal NI NS
GPI1023 ;33 PMOD1_1 Reset switch and boot switch L
36 PMOD1_2 i i
GPI024 Po—0o Note 5.0V is the absolute max on the FT pads, which can be exceeded
GPI025 37 PMOD1_3 +3V3 +3V3 +3V3 +3V3 due to tolerance on VBUS —— however this seems to be related to A4
GND 38 PMOD1_4 the ESD shunt, so should be ~safe to drive 5V +5% via pullup, GND
ADCO/GPI026 TPMODli‘) just not low—Z. (do not quote me on this)
ADC1/GPI027 PF¥—— =
40 PMOD1_6
ADC2/GP1028 Fo—— ol
LDO + DVDD D li ADC3/GPI029 Hl—PMODL- R1 R2 - =) R
+ ecoupling
22 ONFFLASH.SDO___ 5 15 /100 £ 50101 |2 FLASH_SD1
+3V3 +1V1 +1V1 +1V1 FLASH,S%,& ScK
RUN_RST FLASH_CS 11cs —— C13
FLASH_SD2 3 1Wp /102 100n
R3 FLASH_SD3 7 HOLD/I103 o
Cc1 Cc3 C5 c8 K2 3
1lu 1lu 100n 100n
1
Sw1i Sw2
GND GND GND GND SW_Push SW_Push A4
GND GND
I0VDD Decoupling __ Expansion Headers
Want at least 10:1 ratio of pullup:pulldown on CS
+3V3 +3V3 +3V3 +3V3 VBUS  VBUS (boot strap) to get clean logic O, if usin% USB boot made. +3V3 +3V3 +3V3 +3V3
GND GND W25Qx parts can survive with just the 60k 20% pad pull on Il J3
RP2040 at power up, so save a resistor and a unique! 02x06 +3V3 02x06 +3V3
c2 c4 c6 c24 1076 = — = —
100n 100n 100n 100n 2 - | conn_01x02 10 J 10 J
PMODO_7 8 7 PMODO_3 C22PMODl,7 8 7 PMOD1_3 23
PMODO_6 6 5 PMODO_2 1y PMOD1_6 6 5 PMOD1_2 1u
A4 PMODO_5 4 3 PMODO_1 PMOD1_5 4 3 PMOD1_1
GND GND GND GND Button should have no effect on LED brightness. PMODO_% = - PMODO_0 PMODL_% 2 1 PMOD1_0
To drive LED: GPIO output enable, drive high/low.
To read button: briefly set GPIO Hi—-Z + PullUp. < < GND < < GND
If button not pressed, this presents LED Vf
VBUSPWR_FLAG VBUS = VBUS +3V3 +3V3 to GPIO, which is enough to flip the input Schmitt. GND GND GND GND
USBMOTG USER_LED_BUTTON +IVS
NCP115ASN330
LIRS 1 5
IN  OUuT P P
.e» Debug header R20 R11 This is utterly cursed and probably won't ever work
Did3 USBD+  _| EN - 11 2k2 2k2 but it’ th a t
= .z useo- /=) —_ UARTTX 1 [ ut It s worth a try
22 145 2 UART_RX 2 [ Luke Wren
ne GND swplo____ 3| |2 <3 02 Sheet: /
‘DE SWCLK 4 | |Conn_01x05 SW_Push LED File: picodvi.sch
5 B Y
$— PWR_FLAG = N Title: PicoDVI
A4 A4 A4 A4 Size: A4 [ Date: 2020-06-23 Rev: C
GND GND GND GND GND GND GND KiCad E.D.A. kicad 5.0.2—bee76a070ubuntul18.04.1 Id: 1/1
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